Worksheet for the spreadsheet “products and costs”

All of the questions below should be answered by changing the numbers in the eleven shaded cells in the spreadsheet.  If you choose an inappropriate number, a warning message will appear on the spreadsheet.  Since these warnings are hidden when not required, do not type anything in any other cells, even if they appear empty!  If you pass the cursor over the red triangle, a comment will appear, with information about what is in that cell.

The spreadsheet uses one variable factor of production – the number of workers employed – and also has fixed costs.  Choose the total amount of output that the firm can produce with two workers (cell B6) and the extra output that each additional worker can produce (their marginal physical products) (cells C7 to C14).

The Average Physical Products are shown in column D.  How many workers is the firm employing when Average Physical Product is at a maximum? _________ 

How does MPP compare to APP at this point? ________________

When MPP is greater than APP, what is happening to APP? __________

When MPP is less than APP, what is happening to APP? ___________

Now choose the level of fixed costs (cell C17) and the wage per worker (cell C16).

Where is the lowest level of Marginal Cost (in terms of output)? __________________

Where is the lowest level of Marginal Cost (in terms of number of workers)? ___________

How does this compare to the level of MPP with that number of workers? __________

Where is the lowest level of Average Variable Cost (in terms of output)? __________

How does it compare to the level of Marginal Cost at that point? _____________

When MC is greater than AVC, what is happening to AVC? _____________

When MC is less than AVC, what is happening to AVC? ______________

Where is the lowest level of Average Total Cost (in terms of output)? __________

How does it compare to the level of Marginal Cost at that point? _____________

When MC is greater than ATC, what is happening to ATC? _____________

When MC is less than ATC, what is happening to ATC? ______________

Where is the lowest level of ATC (in terms of number of workers)? ________

How does this compare to the level of APP with that number of workers? __________

What happens to the gap between ATC and AVC as the level of output rises? _________

Why? _______________

Increase both the wage rate and the fixed costs, by the same proportion (e.g., double both of them).  

What happens to the shape of the cost curves? _____________

What happens to their level? _______________

Double the level of fixed costs.  What happens to the gap between ATC and AVC? ________
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